
Answers

1)  a)    1

b) 122 years

c) 13 years

2) a)    Children should draw 4 ½ crowns for Henry V.

b) Children should draw 8 ½ crowns for John.

c) 13 years

1)  a)    false

b) false

c) true

2) He has read the longest time as the total.

He needs to add the value of each bar together.

1) a)    Edmund II

b) 212 days (accept other close answers)

c) 49 days

2) Children should choose a bar chart and reason that this is due to the difficulty in showing large numbers in a pictogram.

3) a)    Children should add data for 212 days.

b) Children should add data for 296 days.
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